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Central Limit Theorem
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swine::"

Nboxes = Vfd in fq
calculate Ai in each box

<A;)> LAS for system
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Classical Mechanics
-
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. . . . ,
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Newton's Equation says F- ma

N differential equations

mi = E. Cii . . - ri,
if we know Eco)
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Tco) and FCF )

then everything is determined
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" conservative
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total energy is conserved
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date = F. E - (ful . in higher

= J .
F - ¥ .
I = o dimension

Energy is conserved



Lagrangianmechenics
for conservative systems

LCF , I = KEI - Uci's

Euler - Lagrange Equation
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Why is this helpful ?
Other coordinates I

⇐ = # in ¥!
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total energy
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H and L are connected

by a
"Legendre transform

"

[ Sec 1.5 ]
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It is total energy
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